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REVISION PAPER XI12018 (SPECIAL)

Why are irredeemable debentures also known as perpetual debentures? {1)
Distinguish between shares and debentures on the basis of convertibility? {1)
Name the account which is prepared to close the assets and liabilities at the time of

dissolution of firm. (1)

Anand, Bhasin and Chhadha are partners dealing in sale of gift items. Anand without the
knowledge of Bhasin and Chhadha is also running a business of supplying gift items with the
help of his wife. He is earning good profit from this business which he did not share with
Bhasin and Chhadha. (1)
Was Anand correct in doing so? Indicate the value which he did not follow.
Nidhi and Aastha were partners sharing profit in the ratio of 3:2. They admitted Mayank as a
new partner for 3/10" share which he acquired 2/10" from Nidhi and 1/10™ from Aastha.
Calculate the new profit sharing ratio of Nidhi, Aastha and Mayank. {1)
Six friends started a partnership business by investing Rs.2,00,000 each they decided to share
profits equally name the term by which they will be call them individually and collectively. (1)
Lotus Limited has an authorized capital of Rs.30 lakh divided into equity shares of Rs.20 each
the company invited applications for issuing 80,000 shares application for 76,000 shares were
received. Al calls were made and where duly received except the final call of Rs.11 per share
on 9000 shares.
{a) These shares were forfeited.
(b} Present the share capital in the balance sheet of the company as per schedule 11l of
companies act 2013 also prepare Notes to accounts for the same. (3}
Ekta Ltd issued Rs.50,00,000, 8% debentures of Rs.500 each at par redeemable at a premium
of 10% after five year
According to the term of issue Rs.250 was payable on appiication and balance on the
allotment of debentures. Record necessary journal entries at the time of issue of 8%
debentures. ; (3)
Radha limited purchased a running business from Krishna traders for a sum of Rs.15,00,000
payable Rs.30,00,000 by chegue and for the balance issued 9% debentures of Rs.10 each at
par
The assets and liabilities consisted of following
Plant and machinery Rs.4,00,000; Stock Rs.6,00,000;sundry debtors Rs.3,00,000; building
Rs.5,00,000; sundry creditors Rs.2,00,000.
Record necessary journal entries in the books of Radha Ltd. {3)
Neeraj and vision are carrying on a business of repairing electronic items. There are no other
technicians for repairing electronic items in the locality.
As the electric supply has a lot of fluctuations, the equipment gets damaged. Therefore, both
the partners themselves do the repairing work to the satisfaction of the customers. The firm
donors 10% of the profit to a charitable Hospital of the locality for medical treatment of
persons below power T line. State the two factors affecting the goodwill goodwill of the firm
discussed in the above para. Also identify any two values which the firm is trying to
propagate. (3)
Aand B where partners in the firm sharing profits and losses in the ratio of 5: 3. They
admitted C as a new partner. A surrenders one third of his share in favour of Cand D
surrenders one fourth of his share in favour of C. C brought Rs.1 lakh 50,000 for his share in
capital and Rs.5,80,000 for his share of goodwill calculate new profit sharing ratio of A, B and
C. Also pass necessary journal entries on C's admission. {4)
Praveen, Sahil and Riya are partners having fixed capital Rs.2,40,000, Rs.1,60,000 and
Rs.1,20,000 respectively. They share profits in the ratio of 3:1:1 the partnership deed
provided for the following which were not recorded in the hooks.




{a) interest on capital at the rate of 5% per annum.

13.

14.

15.

16.

(b} Salary to Praveen Rs. 1500 p.m. and to Riya Rs.1000 per month.

(c) Transfer fram profit to general reserve Rs. 10,000.

Net profit for the year ended 31 March 2017 was Rs.2,00,000. Pass necessary rectifying

entries for above. (4)

Pass the necessary journal entry for the following transaction on the dissolution of the firm of

Ravi and Arun after the various assets {other than cash and a outside liabilities) have been

transferred to the realization account

(a) Bank loan was paid Rs.45,00

(k) Typewriter not appearing in the books of account now realize Rs.5000.

{c) Ravi, a partner, paid a creditor Rs. 16,000.

(d) Expenses to realisation amounted to Rs.4200.

{e) Furniture worth Rs. 25,700 was taken up by the Arun.

(f) Loss on the relation Rs.2400 was distributed between Ravi and Arun in 3: 2 ratios.{6)

Amar and Parvez where partners in the firm sharing profits in the ratio of 4;3. On 1% April

2016, they admitted Rubina as a new partner for one fourth share in the profit of the firm. On

the date of Rubina’s admission the balance sheet of Amar Parvez shows general reserve of

Rs.1 lakh 40,000, a debit balance of Rs. 21,000 in profit and loss account and warkmen

compensation fund of Rs. 10,000. The following was agreed upon on Rubina admission

(a) Rubina will bring Rs.4,00,000 as her capital and Rs. 70,000 as her share of goodwill in cash

{b) There was a claim of workmen compensation for Rs. 17,000.

{c) The partners decided to share future profits in the ratio of 2;1;1.

Pass the necessary | entries for the above on Rubina’s admission. (6)

Record the Journal entries for forfeiture and re-issue in the following cases:

{a) X Itd. Forfeited 200 shares of Rs. 100 each, Rs.70 called up. On which the shareholders had
paid application and allotment money of Rs. 50 per share. Out of these 150 shares were
reissued to Naresh as Rs. 70 paid up for Rs. 80 per share.

{b} Y Itd. Forfeited 180 shares of Rs. 10 each; Rs. 8 called up, issued at a premium of Rs. 2 per
share to R for non-payment of allotment money of Rs. 5{(including premium}. Out of these
160 shares were reissued to Samar as Rs. 8 called up for Rs. 10 per share. ()

Pankaj Fab Ltd. Issued 1,00,000 equity share of Rs. 10 each payable as Rs. 2 on application,

rupees for rupees on allotment and rupees to each on first and final call. Applications where is

see you for one lakh 50,000 shares. Application of 50,000 shares were sent the letter of regret
and application money was refunded. Mathur holder of 3000 shares failed to pay the

allotment money which he paid along with the first call. Rohan, a sharehoider holding 7000

shares pay both the calls along with the allotment. Sohan, a holder of 1000 shares did not pay

the first call and the final call. His shares were forfeited. The forfeited shares were reissued at

Rs.11 per share as fully paid up. Pass necessary journal entries for the about transactions in

the books of the company. (8)

OR

Transactions. Radha Mohan Ltd invited applications for issuing four lakh equity shares of Rs.50

each amount was payable as follows:

On application Rs.15 per share

On allotment Rs.25 per share

On first and final call Rs.10 per share.

Application for 6,00,000 shares were received and pro-rata allotment was made to all the

application on the following basis:

Applications for 2,00,000 shares were allotted one lakh shares applicants for four lakh shares

were allotted three lakh shares.




17.

It was decided that excess amount received an application will be adjusted towords some due
on allotment and surplus, if any, will be refunded. Guneet who was allotted 6000 shares out
of the group applying for four lakh shares did not pay the allotment money and his shares
where forfeited immediately. Afterword’s, this forfeited shares very issued at Rs.30 per share
fully paid up. Later on, first and final call was made. Shahid, who had applied for 2000 shares
out of bro applying for two lakh shares failed to pay first and final cali, and his shares were
also forfeited. This shares where afterword’s reissued at Rs.60 per share as fully paid up.

Pass necessary journal entries in the books of Radha Mohan Ltd for the above transactions.
Ram, Mohan and so on where partners, sharing profits and losses in the ratio of 532. On 31
March 2017 their balance sheet was as follows:

Liabilities Amount | Assets Amount
Capital Ram 1,50,000 | Leasehold property 125,000
Mohan 1,25,000 | Patents 30,000

Sohan 75,000 | Machinery 150,000
Workrmen compensation fund 30,000 | Stock 1,90,000
creditors 1,55,000 | Cash at Bank 40,000
5,35,000 5,35,000

Sohan died on 1% August, 2017 it was agreed that:

i Goodwill of the firm is to be valued at 175,000.

i Machinery be valued at 140,000; patents at Rs. 40,000, leasehold at 150,000 on this
date

ifi for the purpose of calculating so and share in the profit of 2017-18, the profit should
be taken to have accrued on the same scale as in 2016-17. which where Rs. 75,000.
Prepare Sohan’s capital account and revaluation account and capital account of
other partners.

OR
Following is the balance sheet of Amar and samar as on 31 March 2017.
Liahilities Amount Assets Amount
Capital A/C Bank 20,000
Amar 1,10,000 | Debtors 44,000
Samar 60,000 | Less Provisions 2,000 42,000

Creditor 26,000 | e
Employees provident fund 16,000 | Stock 30,000
Workmen Compensation fund 30,000 | Plant and Machinery 1,20,000
Goodwill 20,000
Profit and Loss A/c. 10,000
2,42,000 2,42,000

On the

above date, Goldy was admitted as a partner for 1/4" share in the profits of the firm with the

following terms:

(i)

(i)
(iii)
(iv)

Rs. 2,500 will be written off as a bad debt.

Stock was taken over by Samar at Rs. 35,000.

Goodwill of the firm was valued at Rs. 40,000 Goldy brought his share of goodwill in cash.
Goldy brought proportionate capital and capital of other partners where adjusted on the
basis of Goldy’s is capital. For this necessary cash was bought in or paid of to the partners
as the case may be. Prepare revaluation account partners capital account and balance
sheet of admission, (8)




18. Interest received on debentures would result in inflow, outflow, or no flow of cash. Give your

19.
20.

PART-B

answer with reason.

Why is depreciation added back to net profit while preparing cash flow statement?
Under which major Saab heading back following items will be shown in the balance sheet of

{1)
(1)

the company as per schedule il of the companies act 2013: {4)

(i) Loose Tools

(i) Trade Mark

(iii) Bank Overdraft

{iv) Bonds

{v) Debentures

(vi}  Calls-in-Advance

(vii)  Subsidy Reserve

{viii)  Mining Rights.

21. Prepare Comparative Statement of Profit and Loss from the following information’s: {4)

Particulars 31" March, 31° March,
2017(Rs.) 2016 (Rs.)

Revenue from Operations 12,00,000 8,00,000

Purchase of Stock in Trade 7,880,000 6,20,000

Change in inventories 40,000 80,000

Other Expenses 10%of cost of 8% of cost of
revenue from revenue from
operation operation

Rate of Tax 30% 40%

22

23.

(a) From the following, Calculate Trade Receivable Turnover Ratio:

Total revenue from operation for the year Rs. 8,40,000. Cash revenue from operations 40% of
credit revenue from operation and closing trade receivable is Rs. 2,00,000. Excess of closing
trade receivable over opening trade receivable is Rs. 80,000.

(b) From the following information, calculate ‘Interest Coverage Ratio’.

Profit after interest and tax Rs. 4,97,000.
Rate of Income Tax 30%.
12% Debentures Rs. £,00,000.

(4)

(a) Calculate ‘Cash Flow from Operating Activities’ from the following information:

Particulars 31 March, 31° March,
_ 2017(Rs.) 2016 (Rs.)

Surplus i.e. Balance in Statement of Profit and Loss 80,000 1,00,000
Trade Receivables 2,50,000 2,40,000
Goodwill 15,000 20,000
Outstanding Expenses go00y
General Reserve 30,000 50,000
Provision for Depreciation on Plant 1,00,000 82,000
Prepaid Expenses 1 6,000
Trade Payables 84,000 60,000

(i)

the year.
(ii)
(iii)

Income tax paid during the year Rs. 30,000.
Dividend paid during the year was Rs. 18,000.

(b) State any two objectives of preparing Cash Flow Statement.

Plant costing Rs. 60,000 having book value of Rs. 36,000 was sold for Rs. 40,000 during

{4+2)
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MATHEMATICS SAMPLE PAPER FOR CBSE CLASS Xll - 2018
Time : 3 hours Max. Marks : 100
Kk dkkkk koo k koo koo koo koo koo koo koo koo ok
General Instructions :
(i) All questions are compulsory
(i) Check that this question paper contains 29 questions.
(i) Questions 1 to 4 in Section A are Very Short Answer Type Questions carrying one mark each.
(iv) Questions 5 to 12 in Section B are Short Answer Type Questions carrying 2 marks each.
(v) Questions 13 to 23 in Section C are Long Answer Type Questions carrying 4 marks each.
(vi) Questions 24 to 29 in Section D are Long Answer Type Questions carrying 6 marks each.
(vi) Write down the serial number of the question before attempting it.
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SECTION - A
1. Write the principal value of tan™ (v3) — cot™1(—/3).

2. fR={(x,y) : x+ 2y = 8} is a relation on N, write the range of R.

3. Write a square matrix of order 2, which is both symmetric and skew symmetric.

4. . In a triangle OAC, if B is the mid-point of side AC and OA = 3,0B = b, then whatis 0C?
SECTION - B

5.1ff(x) =x+7and g(x) =x—-7,xeR,find (fog) (7)

6. Let * be binary operation on Q defined by a* b :% . Show that * is commutative as well as

associative.

7 IfA= [ cosO sinO

. ] then for any natural number n, find the value of Det (A").
—sin® cos0

8. Evaluate : [ ————dx

cos?x sin?x

(]

. (T/2 cos®x dx
. Bvaluate : [ " ———-.

10. Find a vector of magnitude V171, which is perpendicular to both of the vectors @ =1 + 2j —
3kandb = 31—j+ 2k.



11. Find the angle between the lines 2x =3y = — zand 6x = —y = — 4z.

12. Find the angle 8, between the line X;Z = y;_ ® = Z; % and the plane 2x — 2y + z — 5=0.

SECTION-C

\/1+x—\/1—x)_
Vi+x-Vvi-x/)

13. Prove that : tan'l(
OR
Show that the relation S in the set R of real numbers, defined as
S={(a, b):a b eRanda<b’}is neither reflexive, nor symmetric nor transitive.
X+y X X

5x+4y 4x 2x
10x+8y 8x 3x

14. Using the properties of determinants, Prove that : =x3

3ax+ b,ifx > 1
15. If the function f (x) given by f (x) = { 11,ifx =1 is continuous at x = 1, find the values of ‘@’
5ax — 2b,ifx < 1

and ‘b’.

16. Ify = (x + \/m)n, prove that % = X‘Zaz
17. Find the intervals in which f (x) = (x + 2)e™* is increasing or decreasing.

OR

Find the equation of the tangent line to the curve x =1 - cosB,y=0 — sinfBat 6 = g

X3
Evaluate : [ ————— dx

sinx — xcosx
OR x-1Dx2+1)

18. Evaluate : |

X (X + sinx)

19. Evaluate : [™* (M) dx

0 3 + sin2x

20. Show that the differential equation (x —y) % = X + 2y is homogeneous and solve it also.

21. Find the differential equation of the family of curves (x — h)? + (y — k)? = r?, where h and k are
arbitrary constant.

22. Letd = 1+ 4j+ 2k, b = 31— 2j + 7k and ¢ = 21 —j + 4k Find a vector d which is perpendicular to
both 3andband &.d = 27.

23. An urn contains 5 red and 2 black balls. Two balls are randomly drawn, without replacement. Let

X represent the number of black balls drawn. What are the possible values of X ? is X a random



variable ? If yes, find the mean and variance of X.
SECTION - D

24. Two schools A and B want to award their selected students on the values of sincerity,
truthfulness and helpfulness. The school A wants to award Rs. x each, Rs. y each and Rs. z
each for the three respective values to 3, 2 and 1 students respectively with a total award money
of Rs. 1,600. School B wants to spend Rs. 2,300 to award its 4,1 and 3 students on the
respective values (by giving the same award money to the three values as before). If the
total amount of award for one prize on each value is Rs.900, using matrices, find the award
money for each value. Apart from these three values, suggest one more value which should be
considered for award.

25. A wire of length 20 m is to be cut into two pieces. One of the pieces will be bent into shape of a
square and the other into shape of an equilateral triangle, where the wire should be cut so that the

sum of the areas of the square and triangle is minimum.
2
26. If the area bounded by the parabola y? = 16ax and the line y = 4mx is ?—2 sq units, then using

integration, find the value of m.
OR
Find the area of the region enclosed between the two circles : x? + y> = 4 and (x — 2)* + y% = 4.
27. Find the shortest distance between the following lines :
r= (I+2j+3k)+A(21+3j+4k) and = (21+ 4§+ 5k) + p(41 + 6] + 8k)
OR

Find the equation of the plane passing through the line of intersection of the planes 2x +y —z =
3and5x -3y +4z+ 9 =0and is parallel to the line X%l === 5—5

28. Suppose a girl throws a die. If she gets 1 or 2, she tosses a coin three times and notes the
number of 'tails’. If she gets 3, 4, 5 or 6 she tosses a coin once and notes whether a 'head’ or 'tail’ is
obtained. If she obtained exactly one 'tail’, what is the probability that she threw 3, 4, 5 or 6 with the

die?

OR



Bag | contains 3 red and 4 black balls while another bag Il contains 5 red and 6 black balls. one
ball is drawn at random from one of the bags and it is found to be red. Find the probability that it was

drawn from bag II.

29. In a mid-day meal programme, an NGO wants to provide vitamin rich diet to the students of an
MCD school. The dietician of the NGO wishes to mix two types of food in such a way that vitamin
contents of the mixture contains at least 8 units of vitamin A and 10 units of vitamin C. Food 1
contains 2 units per kg of vitamin A and 1 unit per kg of vitamin C. Food 2 contains 1 unit per kg of
vitamin A and 2 units per kg of vitamin C. It costs Rs. 50 per kg to purchase Food 1 and Rs.70 per
kg to purchase Food 2. Formulate the problem as LPP and solve it graphically for the minimum cost

of such a mixture ?

k*khkkkkkkkkkhkkhkkkkkhkkkhhhhkhkhkhkhkkkkkkhhhkhkhhkkkhkkkhhhhkkhkhkkkkkkhhhkhkhkkkkhkkkhhhhhkhkhkkkkkhhhhkhkhkkkkkkkhhhhkhkhkhkhkkkkkkx



SAMPLE PAPER CLASS XII/ MATHEMATICS
GENERAL INSTRUCTIONS:

a) All questions are compulsory

b) The question paper consists of 29 questions divided into four sections A, B, Cand D.
Section A comprises 4 questions of 1 mark each, Section B comprises 8 questions of
2 marks each, Section C comprises 11 questions of 4 marks each and Section D
comprises 6 questions of 6 marks each.

c) All questions in Section A are to be answered in one word, one sentence or as per
the exact requirement of the question.

sin™(2x) tan l(ﬁj 1 —cost(nx) tan 1(5)
1 If A== 7/land B== 4

4 sinl(gj cot™(nx) i sinl(gj —tan}(mx)

of A— B in terms of identity matrix I.

find the value

n n

2 If @ and b are unit vectors inclined at an angle 8, then prove that sin 8 = E

N

a-b

3 Find the direction cosines of the line = —3 = 7 +1.Also determine the value of
312 +2m? +6n?.

2X
1+x

I

1
Prove that _[sin _1( 5
0

)dx:%—logz

5 Find,uand6if(i+3j+9ij(3i—,uj+5kj=O.

X+y Y+ Z+X
z X y
-3 -3 -3

=2
SIN® X
7 Evaluate J.%/ o dx.
COS X

N A N A A

8§  Ifa—i+ j+kand b= j—k,then findthevalueof csuchthataxc =band a-c =3

9 Evaluate tan| 2tan* (EJ +
5) 4

10 Solve the following for x Sin 71(1— X)— 2sin ' x=cos™ x
OR

Write the value of A =




Prove that cot™ 7 + cot 8+ cot 18 =cot™*3
11 Show that the four points A(4, 5, 1), B(0, -1, -1), C(3, 9, 4), D(-4, 4, 4) are coplanar.

12 Find the coordinates of foot of perpendicular drawn from the point A(-1, 8, 4) to the line
joining the points B(0, -1, 3) and C(2, -3, -1).

1
13 In a given function f(x) = x> + b x* + ax, x € [1, 3], Rolle’s theorem holds with c = 2 +—, find

Ne

the values of a and b.

_ _ x? +3x+a,whenx <1
14 Find the values of a and b so that the function f(X) = is

bx+2,whenx >1
differentiable at each x € R.

15 A telephone company in a town has 500 subscribers on its list and collects fixed charge of Rs
200 per subscriber per year. The company proposes to increase the annual subscription and it is
believed that for every increase of Re 1, one subscriber will discontinue the service. Find what
increase will bring maximum profit?

16 Evaluate Itan(x —6) tan(x + @) tan 2x dx

2 2
17 Evaluate _[
-2

OR Evaluate

|xcoszx| dx

X

O N | W

1+5

yz—Xx* X—y® xy-—z°
18 Prove that |ZX — y2 Xy — z° yz — x?| is divisible by (x + y + z) and hence find the
xy—z> yz—x* zx-y?

quotient.

19 A letter is known to have come from either TATANAGAR or CALCUTTA on the envelope just

two letters TA are visible. What is the probability that the letter has come from i) TATANAGAR, ii)

CALCUTTA.

OR

There are 3 bags each containing 5 white balls and 2 black balls. Also There are 2 bags each

containing 1 white balls and 4 black balls. A black ball is drawn at random. What is the probability

that the black ball came from the first group?

20 Find the particular solution of the differential equation ﬂ = M , given thaty =
dx siny+ycosy

/2 when x = 1.

21 Find the equations of tangents to the curve y = cos (x + y), -2t < x < 2m that are parallel to
the linex + 2y =0.

OR Find the angle of intersection of the curvesy 2= x and x* = .



22 Let f: N = N be a function defined by f(x) = 4x* + 12x + 15. Show that f : N = S is invertible,
where S is the range of f. Find the inverse of f and hence find f* (31).

23 If the points (1, 1, p) and (-3, 0, 1) be equidistant from the plane 3x + 4y — 12z + 13 = 0.

24 Show that x* dy = (2xy + y°) dx is a homogeneous differential equation, Also find the
particular solution given thaty =1 when x = 1.

25 The standard weight of a special purpose brick is 5 Kg and it must contain two basic
ingredients B; and B,. B; costs Rs 5 per Kg and B, costs Rs 8 per Kg. Strength consideration dictate
that the brick should contain not more than 4 Kg of B;and minimum 2 kg of B, since the demand for
the product is likely to be related to the price of the brick, find the minimum cost of the brick
satisfying the above conditions. Formulate this situation as an LPP and solve it graphically.

26 An unbiased coin is tossed n times. Let the random variable X denote the number of times
the head occurs if P(X=1), P(X=2) and P(X=3) are in AP, find the value of n.

2
Vs
27 If the area bounded by the parabola y* = 16ax and the line y = 4mx is E square units then

using integration find the value of m.

-5 1 3 1 1 2
28 Find the product of AandBwhere A=| 7 1 —-5(and B=|3 2 1] hencesolve
1 -1 1 2 1 3
the following system by matrix method
X+y+2z=1,3x+2y+z=7,2x+y+3z=2.
X+2 2y+3 3z+4
29 Find the distance of the point (-2, 3, -4) from the line = y = measured

4
parallel to the plane 4x + 12y—-3z+1=0



DELHI PUBLIC SCHOOL RISALI BHILAI (C.G.)
SAMPLE QUESTION PAPER
Engineering Graphics (046) (Class XI1) (2017-18)

Time Allowed: 03 Hours Max. Marks:70
General Instructions:

i Attempt all questions.

ii. Internal choice is given in some questions.

iii. Use both side of drawing sheet if necessary.

v, All dimensions are in mm.

V. Missing and mismatching dimension if any may be suitably assumed.

Vi. Follow the SP:46-2003 revised codes with first angle method of projection.

vii.  Give your answer according to question.
Q1. Attempt the following multiple choice questions: (5x1=5)

Q) Knuckle thread is a modified form of which thread?

a. BSW b. Square c. V-thread d. Metric
(i) A continuous and projecting helical ridge of uniform section on a cylindrical surface
is called?
a. lead b. screw thread c. pitch d. flank

(iti)  For asingle start thread, the lead is equal to-
a. pitch  b. major diameter c. twice the pitch d. half the pitch

(iv)  The largest circle of the thread of a screw or nut is?
a. Major diameter b. minor diameter C. pitch d. lead

(V) A screw is specified by which diameter?
a. Major diameter b. minor diameter
C. pitch diameter d. chamfering diameter

Q2. (i) Construct an isometric scale which can measures up to 100mm. 4

(ii) Draw an isometric projection of a sphere of diameter 50mm. @)

(iii) Draw an isometric projection of a horizontal equilateral triangular prism of base side
30mm and length 40mm with its axis parallel to HP & VP, having its one rectangular face resting
centrally on the top circular face of a cylindrical disc of base diameter 70mm and height 40mm,
resting on its circular base on HP. Indicate direction of viewing. Give all dimensions. (13)
Q3. (i) Draw to scale 1:1 the standard profile of metric screw thread (internal) taking enlarged
pitch as 50mm. Give standard dimensions. Show all the unknowns in a separate table. (8)

OR
Draw to scale 1:1 the front view and plan of a square headed bolt of diameter 24mm, keeping its
axis perpendicular to HP. The length of the bolt is 110mm. (8)
(i) Sketch free hand the front view and top view of a socket head screw of size M10, keeping its
axis perpendicular to HP. Give standard dimensions. (5)
OR
Sketch freehand a woodruff key in position, on a shaft of diameter 60mm, keeping the axis
of shaft parallel to VP & HP. Give standard dimensions. 5)







(28)



SAMPLE PAPER-1

Subject: Business studies
Max.Marks:80

General Instructions:

(1). Answer to questions carrying one mark may be from one word to one sentence
(i1). Answers to questions carrying 3 marks may be from 50-75 words

(ii1).Answers to questions carrying 4-5 marks may be about 150 words

(iv). Answers to questions carrying 6 marks may be about 200 words

(v). Attempt all parts of a question together

1. Just after the declaration of Loksabha Elections results, the BSE price index
rose by 1800 points in a day. Identify the environmental factor which led to
this rise.

2.  Control system loses its effectiveness when standards are to be defined in
gualitative terms. What difficulty does this situation create?

3. ldentify the step in which capability of the employee is judged.

4.  Give any one responsibility of a consumer in addition to obtaining cash
receipt while purchasing a Microwave oven.

5.  Give an example of employee recognition programmes.

6. Shahara moves & packer provides services like courier services , package and
parcel services. State with reason whether the working capital requirements
of Shahara moves & packer.

7.  State two examples of services that can be marketed.

8.  Which two step in the process of controlling are concerned with compelling
events to confirm to plan?

9.  Arjun, the production manager of Fuji Ltd give instruction to his forman to
achieve a target production of 150 units per day, but did not give him the
authority to order materials from the stores department. The forman could
not achieve the target. Can production manager blame the forman for not
achieving the target? Give reason.

10. Manjusha wanted to buy a Jewellery for her daughter’s birthday. She asks
her friend to accompany her as she is fully ignorant of the things that should
be kept in mind before making such purchase. In what way would her friend
help her. Give three points.

[



11.

12.

13.

14.

Ranjan is working in Life pharma for last 4 years. He is a sincerce and
efficient employee. He worked hard and many times did overtime duties to
achieve organisational objectives. As he worked overtime, he fell ill and had
to take leave for few days. No one showed concern and enquired about his
health. He realized that he was fulfilling only some of his needs while some
other needs still remained unfulfilled.
a) By quoting the lines from the above paragraph, identify the needs of
Ranjan which he was able to fulfill.
b) Also explain two other needs of Ranjan followed by the above needs,
which he needs to fulfill.

Suhrut is an employee in a company which assembles cars . He likes to do 3

things in a different and unique manner. Due to this habit, an idea struck him
which would not only reduces the assembling time of cars but would also
reduce the cost of production. Suhrut shared his idea with his supervisor. His
supervisor instead of appreciating him ordered him to complete the work as
per the methods and techniques decided earlier.
The above paragraph describes the limitations of a management function.

a) ldentify & explain the function of management mentioned in the

above paragraph.
b) Also identify and explain the limitation mentioned above.

MrNeelesh owns a Tulip Ltd which manufactures washing machines. In the
initial stages organisation was running properly & all his employees were
happy & contented. Recently he noticed a lot of discontentment in the
organisation and targets not achieved. He appointed a Rizul, an expert in the
field of management to identify the problem that his organisation is facing.
After monitoring his organisation and talking to his employees, Rizul found
that all Neelesh did not have confidence in the competency of his employees.
Due to this all decision were made by Neelesh directly. The employees were
unhappy as neelesh was not ready to listen to their opinions nor took their
advice while taking decision.

a) ldentify & explain two communication barriers because of which

Tulip Ltd. was not able to achieve its target.
b) State one more barrier each of the types identified in Part (a) above.

A Ltd has currently an all equity capital structure consisting of 15,000 equity
shares of Rs.100 each. The management is planning to raise another 25 lakhs
to finance a major expansion program and is considering the 2 alternative
methods of financing.

a. Toissue 25,000 equity shares of Rs.100 each

b. To issue 25,000 8% debentures of Rs.100 each.



The company’s expected earnings before interest & tax will be 8 lakhs.

Determine the EPS in each of the alternative and comment which alternative
is best and why?

15. Explain the following features of planning
a) Planning involves decision making
b) Planning is a mental exercise.

16. Indus Ind is a an established steel manufacturing company. They decided to
expand their business to foreign countries too. As part of expansion process
they decided to purchase Hi-tech machines for its production plant. Sincethe
investment is large, it requires long term finance. It decides to raise funds by
issuing equity shares. The issue involves huge floatation cost. To meet the
expenses of floatation cost, the company decided to tap the money market.

a) Name and explain the money-market instrument the company can use
for the above purpose.

b) What is the duration for which the company can get funds through
this instrument?

c) State any other purpose for which this instrument can be used.

17.

Gents wear

Garments

Ladies wear

Suncream

Managing Director Skin care

Body lotions

Formal Shoes I
Footware

Sport shoes

a) ldentify the type of organisational structure shown above in diagram.
b) State three limitations of the organisational structure identified in part (a)

18. Explain how planning and controlling are inter-related?



19.

20.

21.

My car Ltd decided to setup its new car manufacturingfactory in the
backward areas West Bengal.Where very less job opportunities were
available. People of that area welcomed this effort of My cat Ltd. The
company also decided to provide facilities like school, hospital, market etc...
in the factory premises so that the people are attracted to join the factory as
workers. My Car Ltd earned huge profit in the first year.

a) Identify and explain the objectives of management discussed above.

b) State two values which the company wanted communicate to the

society.

Tamanna purchased one liter of coconut oil from a near supermarket. After
using it she had a doubt that it is adulterated. She sent this bottle to
laboratory test which confirmed that the coconut is adulterated. She filed a
suit in the consumer court and court is satisfied about the genuineness of the
compliant.
a) State any fourreliefs that court might grant her.
b) Identify the value that is being ignored by the coconut manufacturing
unit.

Cyprus Ltd was engaged in the business of food processing and selling its
product under a popular brand. Their business started expanding due to its
good quality products provided at reasonable price. Due to increase in
competition in the market and to keep its market share the company directed
its existing workers to work overtime. This resulted in many problems like
the efficiency of workers declined due to work pressure, sometimes workers
had to work for more than one superior, one division had to handle more
than two products etc... All this resulted in overlapping and wastage. The
workers were becoming indiscipline. The teamsprit, which was once the
characteristics of the company began to decline. Workers were feeling
cheated and their initiative was declining. The quality of products was
beginning to decline and market share was on the verge of decrease.
Actually, the company had implemented changes without creating
infrastructure.

Identify five principles of management given by Hendry Fayol that being
violated by the company. Explain these principles in brief.
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23.

24,

25.

Smitha found a worm from a newly opened packet of biscut manufactured
by a reputed company, X-tra Ltd. She went back to the shopkeer from whom
pack was purchased. The shop-keeper instructed her to call up the call center.
When all her efforts failed, she went to a consumer activist group to seek
help. The group took measures to impose restrictions on the sale of the firm’s
products of the particular batch and urge consumers to refrain from buying
the products of the company. X-tra Ltd lost its image in the mrket. The CEO
gives the responsibility of brining back the lost image of the company to his
manager.

Identify the concept of marketing management which will help the manager
getting the just of the above crisis.

Also explain the role of above identified concept by stating two points.

Why is it important for a business organisation to understand their
environment? Explain briefly.

Harish, the managing director of BIG SHOES is planning to manufacture toys
for utilizing waste materials from his manufacturing unit. He decided that
this manufacturing unit will be set up in a rural area of Assam, where people
have less job opportunity and labour was available at very low rate. He also
thought of giving equal opportunity to men and women.
For this he selected Praveen, Indra, Aslam&Sunjitha as heads of sales,
accounts, purchase and production departments.
a) ldentify & explain the step of staffing which Harish has fulfilled in the
above paragraph.
b) Also explain the next two steps that Harish has to follow after the step
identified in (a)

Mr. shah is a tour operator. He has his tours operated between Jaipur and
Agra. He wanted to buy 50 more buses so that he can expand his business
further. Identify & explain the factors that Mr. shah would consider while
determining his fixed capital requirements of the business.

*kkkk



SAMPLE PAPER-1

CLASS-12
MARKING SCHEME
SUBJECT: BUSINESS STUDIES

SL.No Value points Marks Total

1. Political Environment 1 1

2 Standards defined in qualitative terms makes measurement of 1 1
performance and their comparison with standards difficult.

3 Performance appraisal 1 1

4 A consumer must be quality conscious and he must check ISI 1 1
mark, which provides quality assurance

5 Displaying the name of an employee on company’s notice board 1 1
because of his remarkable performance.

6 Low, as it is a service industry. Service industry usually do not 1 1
have to maintain inventory.

7 Insurance, %) 1
Business process outsourcing Ya

8 Comparing actual performance with standards Ya 1
Taking corrective actions. Ya

9 NO, Arjun cannot hold forman responsible for not completing

the work as forman was not given the authority by Arjun. The

principle of authority responsibility says that there should be a

balance between authority and responsibility. If authority given 3 3
is more it will lead toits misuse and responsibility given without

proper authority then the work cannot be done.



10

11.

12.

The responsibilities of a consumer are
a) Be aware about various goods and services available in

b)

II.

the market so that an intelligent and wise choice can be
made.

Buy only standardised goods as they provide quality
assurance. Thus, look for ISI mark on electrical goods,
FPO mark on food products, Hallmark on jewelry etc.
Learn about the risks associated with products and
services, follow manufacturer’s instructions and use the
products safely.

Read labels carefully so as to have information about
prices, net weight, manufacturing and expiry dates, etc.
Assert yourself to ensure that you get a fair deal.

Be honest in your dealings. Choose only from legal goods
and services and discourage unscrupulous practices like
black-marketing, hoarding etc.

Ask for a cash memo on purchase of goods or services.
This would serve as a proof of the purchase made.

File a complaint in an appropriate consumer forum in
case of a shortcoming in the quality of goods purchased
or services availed. Do not fail to take an action even
when the amount involved is small.

Form consumer societies which would play an active part
in educating consumers and safeguarding their interests.
Respect the environment. Avoid waste, littering and
contributing to pollution.

Ranjan is working in Life pharma for last 4 years . -
Physiological needs & safety / security needs are 2
being fulfilled. Ya
Needs of Ranjan that are to be fulfilled are
a. Affiliation/Belonging Needs: These needs refer
to affection, sense of belongingness, acceptance 1
and friendship.
b. Esteem Needs: These include factors such as
self-respect, autonomy status, recognition and 1
attention.

a) Planning is the management function mentioned in the 1
paragraph.
Planning  involves setting objectives and developing 1
appropriate courses of action to achieve these objectives.
Limitations of planning mentioned here is



13.

14.

15.

a) Planning reduces creativity: Planning is an activity
which is done by the top management. Usually the
rest of the members just implements these plans. As a
consequence, middle management and other decision
makers are neither allowed to deviate from plans nor
are they permitted to act on their own. Thus, much of
the initiative or creativity inherent in them also gets
lost or reduced.

I. The two communication barriers were:
a. Organisational barriers:

Organisational policy:If the organisational policy,

explicit or implicit, is not supportive to free flow of

communication, it may hamper effectiveness of

communications.

b. Personal Barrier:
Lack of confidence of superior on his subordinates: If
superiors do not have confidence on the competency of
their subordinates, they may not seek their advice or
opinions.

II. Organisational Barrier: -Complexity in organisation
structure
Personal barrier:- Fear of challenge of authority

1st Option 2nd option
PBIT 8,00,000 8,00,000
(-) Interest on | Nil (2,00,000)
debentures
Earnings after tax | 8,00,000 6,00,000
EPS 8,00,000/ 40,000 = | 6,00,000/ 15,000 =
Rs.20 Rs.40

The best alternative will be the 2nd option as it results in

higher returns to the share holders.

Features of Planning
Planning involves decision making: Planning essentially
involves choice from among various alternatives and activities.
If there is only one possible goal or a possible course of action,
there is no need for planning because there is no choice. The
need for planning arises only when alternatives are available. In
actual practice, planning presupposes the existence of
alternatives. Planning, thus, involves thorough examination and
evaluation of each alternative and choosing the most

1

s
s

1+1

1%
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17

18.

appropriate one.

Planning is a mental exercise: Planning requires application of

the mind involving foresight, intelligent imagination and sound

judgment. It is basically an intellectual activity of thinking rather
than doing, because planning determines the action to be taken.

However, planning requires logical and systematic thinking

rather than guess work or wishful thinking. In other words,

thinking for planning must be orderly and based on the analysis
of facts and forecasts.

a) Commercial Paper: Commercial paper is a short-term
unsecured promissory note, negotiable and transferable by
endorsement and delivery with a fixed maturity period. It is
issued by large and creditworthy companies to raise short-
term funds at lower rates of interest than market rates

b) It usually has a maturity period of 15 days to one year.

c) Companies use this instrument for purposes such as bridge
financing.

a) Divisional Structure

b) The divisional structure has certain disadvantages. Some of

them are as follows:

1. Conflict may arise among different divisions with
reference to allocation of funds and further a particular
division may seek to maximise its profits at the cost of
other divisions.

2. It may lead to increase in costs since there may be a
duplication of activities across products. Providing each
division with separate set of similar functions increases
expenditure.

3. It provides managers with the authority to supervise all
activities related to a particular division. In course of
time, such a manager may gain power and in a bid to
assert his independence may ignore organisational
interests.

Planning and controlling are inseparable twins of management

because:

1. Without planning there is no basis for controlling:-
Controlling requires standards with which performance
can be measured and evaluated. These standards are laid
down in planning.

2. Planning is meaningless without controlling:-Planning
sets the standards, controlling observes the deviations
from the standards and initiates corrective actions.

1%

—_
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3. Planning is an intellectual process involving thinking and
analysis to discover and prescribe an appropriate course
of action for achieving Objectives Controlling on the other
hand checks whether decisions have been translated into
desired actions. Planning is thus prescribing and
controlling is evaluative.

4. Planning and controlling both are forward looking:-
Planning is future oriented function as it involves looking
in advance and making policies for future. The
controlling function makes sure that in future actual
performance and output match with planned
performance so it is forward looking.

5. Planning and controlling both are looking back- We
look back to the performance which is already achieved
by the employees and compare it with plan.

(any four points)
I.  The objectives of management reffered to are
a) Organisational objective:
Management is responsible for setting and achieving
objectives for the organisation. It has to achieve a
variety of objectives in all areas considering the
interest of all stakeholders including, shareholders,
employees, customers and the government. The main
objective of any organisation should be to utilise
human and material resources to the maximum
possible advantage
b) Social Objective:
It involves the creation of benefit for society. As a part
of society, every organisation whether it is business or
non-business, has a social obligation to fulfill. This
refers to consistently creating economic value for
various constituents of society. This includes using
environmental friendly methods of production, giving
employment opportunities to the disadvantaged
sections of society
II.  Values which company wanted to communicate to the
society are:
a) Providing employment opportunities
b) Development of backward regions
a) The four reliefs available
1. To remove the defect in goods or deficiency in service.
2. To replace the defective productwith a new one, free from

1%

1%

P!
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5.
6.

anydefect.

To refund the price paid for theproduct, or the charges
paid forthe service.

To pay a reasonable amount ofcompensation for any loss
orinjury suffered by the consumerdue to the negligence of
theopposite party.

To pay punitive damages inappropriate circumstances.
To discontinue the unfair/restrictive trade practice and
notto repeat it in the future.

(any four relief)
b) Values ignored by the manufacturer are
Business ethics, Social responsibility
Principles of management violated by the company are

a.

Unity of command

According to Fayol there should be one and only one boss
for every individual employee. If an employee gets orders
from two superiors at the same time the principle of unity
of command is violated. The principle of unity of
command states that each participant in a formal
organisation should receive orders from and be
responsible to only one superior.

Division of work

Work is divided into small tasks/jobs. A trained specialist
who is competent is required to perform each job. Thus,
division of work leads to specialisation. According to
Fayol, “The intent of division of work is to produce more
and better work for the same effort. Specialisation is the
most efficient way to use human effort.”

Discipline

Discipline is the obedience to organisational rules and
employment agreement which are necessary for the
working of the organisation. According to Fayol,
discipline requires good superiors at all levels, clear and
fair agreements and judicious application of penalties.
Espirit de corps

Management should promote a team spirit of unity and
harmony among employees, according to Fayol
Management should promote teamwork especially in
large organisations because otherwise objectives would
be difficult to realise.

Order

According to Fayol, “People and materials must be in
suitable places at appropriate time for maximum

—

15
15
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efficiency.” The principle of order states that ‘A place for
everything (everyone) and everything (everyone) in its
(her/his) place’.
f. Remuneration
The overall pay and compensation should be fair to both
employees and the organisation. The employees should
be paid fair wages, which should give them at least a
reasonable standard of living. At the same time it should
be within the paying capacity of the company.
g. Initiative
Workers should be encouraged to develop and carry out
their plans for improvements according to Fayol.
Initiative means taking the first step with self-motivation.
Initiative should be encouraged.
(any five principles to be identified & explained)
a) Public Relations
b) Role of public relations
1. More credible: Public relation activity is
considered more reliable. Public is of the opinion
that they can be misled by advertising and other
such mediums for increasing sales. But this is not
possible in public relations because its objective
is to improve the image of organisation
2. Economical medium: to attract the attention of
public this is the cheapest medium available.
Like lot of more money has to be spent on
advertisement as compared to it.
It enables the firm to identify opportunities and getting the
first mover advantage: Opportunities refer to the positive
external trends or changes that will help a firm to improve its
performance. Environment provides numerous opportunities
for business success. Early identification of opportunities helps
an enterprise to be the first to exploit them instead of losing
them to competitors.
It helps the firm to identify threats and early warning signals:
Threats refer to the external environment trends and changes
that will hinder a firm’s performance. Besides opportunities,
environment happens to be the source of many threats.
Environmental awareness can help managers to identify various
threats on time and serve as an early warning signal.
It helps in tapping useful resources: Environment is a source of
various resources for running a business. To engage in any type
of activity, a business enterprise assembles various resources
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called inputs like finance, machines, raw materials, power and
water, labour, etc., from its environment including financiers,
government and suppliers. They decide to provide these
resources with their own expectations to get something in
return from the enterprise. The business enterprise supplies the
environment with its outputs such as goods and services for
customers, payment of taxes to government, return on financial
investment to investors and so on.

It helps in coping with rapid changes: Turbulent market
conditions, less brand loyalty, divisions and sub-divisions
(fragmentation) of markets, more demanding customers, rapid
changes in technology and intense global competition are just a
few of the images wused to describe today’s business
environment. All sizes and all types of enterprises are facing
increasingly dynamic environment. In order to effectively cope
with these significant changes, managers must understand and
examine the environment and develop suitable courses of
action.

It helps in assisting in planning and policy formulation: Since
environment is a source of both opportunities and threats for a
business enterprise, its understanding and analysis can be the
basis for deciding the future course of action (planning) or
training guidelines for decision making (policy). For instance,
entry of new players in the market, which means more
competition may make an enterprise think afresh about how to
deal with the situation.

It helps in improving performance: The final reason for
understanding business environment relates to whether or not it
really makes a difference in the performance of an enterprise.
Many studies reveal that the future of an enterprise is closely
bound up with what is happening in the environment. And, the
enterprises that continuously monitor their environment and
adopt suitable business practices are the ones which not only
improve their present performance but also continue to succeed
in the market for a longer period.

a) Selection: Selection is the process of choosing from
among the pool of the prospective job candidates
developed at the stage of recruitment. Even in case of
highly specialised jobs where the choice space is very
narrow, the rigour of the selection process serves two
important purposes: (i) it ensures that the organisation
gets the best among the available, and (ii) it enhances the
self-esteem and prestige of those selected and conveys to

2
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them the seriousness with which the things are done in
the organisation.

b) Placement and Orientation: Orientation is, thus,
introducing the selected employee to other employees
and familiarising him with the rules and policies of the
organisation. Placement refers to the employee occupying
the position or post for which the person has been
selected.

Training and Development:Training and Development is
an attempt to improve the current or future employee
performance by increasing an employee’s ability to
perform through learning, usually by changing the
employee’s attitude or increasing his or her skills and
knowledge.

Factors affecting Fixed capital requirement of a company are

1. Nature of Business: The type of business has a bearing upon

the fixed capital requirements. For example, a trading concern

needs lower investment in fixed assets compared with a

manufacturing  organisation; since it does not require to

purchase plant and machinery etc.

2. Scale of Operations: A larger organisation operating at a

higher scale needs bigger plant, more space etc. and therefore,

requires higher investment in fixed assets when compared with

the small organisation.

Choice of Technique: Some organisations are capital intensive

whereas others are labour intensive. A capital-intensive

organisation requires

higher investment in plant and machinery as it relies less on

manual

labour. The requirement of fixed capital for such organisations

would be higher. Labour intensive organisations on the other

hand require less investment in fixed assets. Hence, their fixed

capital requirement is lower.

4. Technology Upgradation: In certain industries, assets become

obsolete sooner. Consequently, their replacements become due

faster.

Higher investment in fixed assets may, therefore, be required in

such

cases. For example, computers become obsolete faster and are

replaced much sooner than say, furniture. Thus, such

organisations

which use assets which are prone to obsolescence require higher

fixed



capital to purchase such assets.

5. Growth Prospects: Higher growth of an organisation
generally requires higher investment in fixed assets. Even when
such growth is expected, a business may choose to create higher
capacity in order to meet the anticipated higher demand quicker.
This entails higher investment in fixed assets and consequently
higher fixed capital.

6. Diversification: A firm may choose to diversify its operations
for

various reasons, With diversification, fixed capital requirements
increase e.g., a textile company is diversifying and starting a
cement manufacturing plant. Obviously, its investment in fixed
capital will increase.

7. Financing Alternatives: A developed financial market may
provide

leasing facilities as an alternative to outright purchase. When an
asset is taken on lease, the firm pays lease rentals and uses it. By
doing so, it

avoids huge sums required to purchase it. Availability of leasing
facilities, thus, may reduce the funds required to be invested in
fixed assets, thereby reducing the fixed capital requirements.
Such a strategy is specially suitable in high risk lines of business.
8. Level of Collaboration: At times, certain business
organisations share each other’s facilities. For example, a bank
may use another’s ATM or some of them may jointly establish a
particular facility. This is feasible if the scale of operations of
each one of them is not sufficient to make full use of the facility.
Such collaboration reduces the level of investment in fixed assets
for each one of the participating

organisations.
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SAMPLE PAPER-2

Subject: Business Studies

CLASS-12 Max.Marks: 80

General Instructions

i)Answers to questions carrying 1 mark may be from one word to one sentence.
ii)Answers to questions carrying 3 marks may be from 50 - 75 words.
iif)Answers to questions carrying 4 - 5 marks may be about 150 words.
iv)Answers to questions carrying 6 marks may be about 200 words.

v)Attempt all parts of a question together.

1. Your grandfather has retired as the director of a manufacturing company. At which
level of a management was he working? Different types of functions are performed
at this level. State any one function. 1

2. If we delegate authority, we multiply it by two, if we decentralize it, we multiply it
by many’. Name the two concepts to which this statement is related. 1

3. Some friends joined together and set-up a multi-product company. Their company
makes four different products. Three products of company have been successfully
launched in the market. But the company has not succeeded to launch fourth product
in the market. What sort of organizational structure, in your view, might have been
adopted by the company? 1

4. Name the training method in which a newly appointed employee is acquainted with
the organization. 1

5. Mr. Nitin, a Chartered Account, works as financial advisor of “Vishal Mega Mart
limited’. In this connection, he continuously visits the company. During the course of
meetings with senior managers and operators, he came across a secret information of
the company. He learnt that as against the previous years, the company, this year is
going to declare handsome dividend. Often it is observed that when such news
becomes public then the share market jumps up. Considering it, Mr. Nitin purchased

1




10.

large number of company’s share before this news reached the public. Identify and
explain the type of trading of shares conducted by Mr. Nitin, as mentioned in the
above paragraph. 1

Miss Bala is working as the production manager in a company. She divided the work
among her subordinates in accordance with their interest and ability. Not only this,
she even gave them all the authorities to take decisions relating to their work. At the
end of the first month of the year, it was found that Mr. Raj had not achieved his
target. He was lagging far behind his target. Miss Bala asked him to give the reason
within two days why his performance was low. With which concept of management
the conversation between Miss Bala and Mr. Raj referred to in the above paragraph is
related? Identify it. 1

A general manager of Ding Dong Ltd. is responsible for the selection of managerial
employees of various departments of his organization. Now, Ding Dong Ltd. has
expanded and grown in size. The general manager felt overburdened, so, with the
approval of the managing director, he delegated the responsibility of selection of
managerial employees to all the departmental heads for their respective departments.
Identify the concept of management discussed above. 1

Mrs. Shikha is the Managing Director of a Textile Company. The organizational
structure of the company is divided into four different departments. Each
department tries to achieve its own departmental objective due to which she faces
difficulties in effecting coordination among different departments. Identify the type
of formal organizational structure followed by organization. 1

Often it is observed that some political parties of a country are in favor of giving a lot
of freedom to business while some are opposed to this view. When general elections
are approaching in country the impact of this approach of the political parties can be
seen on the share market. For example, general elections are about to take place in a
country, and the general view of the people is that the political party having a
positive approach to business will come into power. As a consequence of this news,
the rates of shares in the share market will be rising.

In this paragraph given above one particular feature and two dimension of business
environment have been described. Identify them. 3

Mr. Anil Garg is an HR manager of “Rohan Shoes Udyog”. He undertook a study
with the sole purpose of minimizing the cost of production and raising the quality of
the product of his company. The findings of the study were put into practice
immediately. The company succeeded in its purpose. It witnessed rapid rise in

2



demand of its products. It has its effect on the number of the employees. The
company felt the need of 30 more employees in order to meet this need. Mr. Garg
initiated staffing process. So far, he has completed the first two steps of this process
and is now at the final point of the third step.

(a) Identify the study undertaken to improve production.
(b) Identify and describe the final point of the third step of staffing process. 3

11. Define capital market. State the two parts of capital market. 3

12. A production manager pays less than the minimum wages and gets their signatures
on minimum wages. Which values are not being followed by him? 3

13. Nikita Electronics plans to sell its new television sets under the exchange scheme.
Which type of plan is it? Explain. 3

14. "Environment provides with constraints and opportunities’. Discuss with the help
of an example.4

15. Neha runs a factory wherein she manufactures shoes. The business has been doing
well and she intends to expand by diversifying into leather bags as well as western
formal wear thereby making her company a complete provider of corporate wear.
This will enable her to market her business unit as the one stop for working women.
Which type of structure would you recommend for her expanded organization and
why? 4

16. Define advertising. What are its main features? Explain. 4

17. The employees of Seema Ltd., a Software Company, have formed a dramatic group
for their recreation. Name the type of organization so formed and state its three
features. 4

18. One fine morning, Mr. Manish the chief executive of a company contacted the
personnel manager and enquired “What is the problem with the workers?” The
wage bill shows that we pay them the highest in the industry. Our working
conditions are fine. Our fringe benefits are excellent. Still, these workers are not
motivated. What do they really require? “The personnel manager replied. “I have
already informed you a number of times that money, working conditions and
benefits are not enough, other things are equally important. One of the worker
recently gave me a clue, he felt that hard work and efficiency go unnoticed and
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20.

21.

22.

unrewarded in our organization. Our promotion and benefit plans are tied upto the
length of service. Even the lazy workers, accordingly enjoy all the benefits in the
organization, which, in fact, according to workers, should go only to those who
work hard.”

Identify the type of incentives referred to by Mr. Manish in the given case. State any
two other incentives for the employees which the personnel manager wanted to

introduce. Also identify the values which were being ignored in the organization.
4

The marketing head of an organization made an exhaustive plan achieving its sales
target. Targets and standards were fixed. However, when the plan was put to test, it
was found that the targets set in the plant were impractical. As a result, the plan
was re-processed and fresh standards set.

(a) Identify and explain the management function involved in the process.

(b) Give any two limitations of management functioning identified in part (a).4

What do you mean by ‘Channels of Distribution’? What functions do they play in
the distribution of goods and services? Explain. 5

State any five methods of floating new issue in the primary market. 5

ABC Ltd. is a renowned company in Kirti Nagar Market of Delhi for manufacturing
quality furniture. From last 20 years, ABC Ltd. has occupied the No. 1 position in
the market. It also specialized in imported furniture besides domestic one. It
manufactures for both commercial and residential /domestic use. For this, company
has hired two managers, one each for commercial department and residential
department. Mr. Sharma, who is the in charge of manufacturing furniture for
commercial purpose, got the target of manufacturing 100 pieces of office tables from
a corporate house. To achieve this target, Mr. Sharma had to operate on double
shifts due to power failure most of the time. He is able to manufacture 100 pieces of
office tables but at a higher production cost. Whereas, Mr. Gupta, who is the in
charge of manufacturing furniture for residential/domestic use, got the target of
manufacturing 50 double beds for an Ashram in Vrindavan. Mr. Gupta
concentrated more on manufacturing beds with fewer resources (i.e. cutting down
the cost of production) due to which he could not achieve the target.

(a) From the two, which manager is effective but not efficient?

(b) Name the manager who is efficient but not effective.
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(c) What should be the ideal aim of managers in the given situations? 5

What role can you,as a student, play to contribute to the cause of consumer
protection? 6

How can a company having a ‘less” working capital call itself successful?” Ravi asked
his friend Moni. They had recently joined Dev Pvt. Ltd. as Management Trainees and
were having their lunch in the company’s staff canteen. Dev is an infrastructural
company, with its scale of operation confined to Punjab. Ravi had spent the morning,
studying the company’s balance sheet for the years 2013-14 and 2014-15 and was
surprised to see that the company’s current liabilities were almost equal to its current
assets.Explain any six factors which can be used by Moni to explain the reasons for
the lower working capital of the company. 6

Two friends, Beena and Seema, are working as managers in the different
departments of ‘Royal Limited’. They often talk about the performance level in their
respective departments. Both of them are not satisfied with their subordinates. They
tried to ascertain when the employees got their full salaries, what problem they had
in working honestly. After investigating for some days, they arrived at the
conclusion that there was lack of motivation in their company. Both held a meeting
together in order to find out the solution of the problem. Beena suggested
participation of the employees in the company’s profits, which she thought would
create in the employees the feeling of belongingness to the company. Such a feeling,
she was of the view, would have a direct influence on their performance level.
Seema, on the basis of her experience, said that if the feeling of job security was
aroused in the employees, there could be improvement in their performance level.
Both of them contacted their chief executive officer - CEO with their suggestions. All
three of them deliberated over this issue. The CEO listened to them very attentively.
He said, “Both of you are right, but I too have a suggestion. If the employees are
made participants in taking decision, they will feel good and their performance level
will improve.” Ultimately, the company implemented the suggestions of all the three
of them. In the above paragraph, different persons have spoken about the three
methods of motivation. Identify these methods and explain. 6

E i e e e



SAMPLE PAPER-2
Marking Scheme

CLASS:12
Subject: Business Studies

On. | Value Points Points wise | Total
No marks Marks
1 1/2
Top level management
Determining Objectives 1/2 1
2 (a) Delegation of authority 1/2
b) Decentralization 1/2 1
3 Divisional organisation structure 1
1
4 It is induction training 1
1
5 It is insider trading. 1/2
It means buying and selling of shares to earn profit 1/2 1
by the holders of company’s secret information
6 Accountability 1 1
7 The concept of decentralization is discussed here. 1 1
8 Functional Organisation 1 1
9 a) Inter Relatedness 1+ 3
b) Political environment & Economic 2
Environment
10 | a) Method study 1 3
b) Name of the third step of staffing is “Selection and | 72
final point of selection is contract of 11/2

employment.




A brief explanation of contract of employment

11 | Capital Market : It refers to that market where |1
transactions in long-term securities are made.
Primary market with brief explanation Zz : Zz
Secondary market with brief explanation
12 | (i) Disobeying the law by not giving minimum |1
wages. 1
(ii) To take signature on minimum wages is fraud. 1
(iii) Exploitation of workers.
Any other valid value
13 | Strategy : It is a comprehensive plan for |1+
accomplishing an organization’s objectives. It
includes these dimensions : 2
(@)  Determining long term objectives
(b)  Adopting a particular course of action
(c)  Allocating resources necessary to achieve the
objective
(a brief explanation of the above)
14
Yes, the environment provides us with both |2+2

constraints and opportunities such as
economic conditions, customs, government
regulations, availability of natural resources,
labour supply etc. for example, despite many
initiatives, foreign direct investment in India is
not picking up (Like China) in the country due
to political and bureaucratic reasons.

On the other hand, environment offers the
firm numerous opportunities due to changing
needs of customers and markets. For example,
the growing demand for air conditioners has
attracted many domestic new comers (Godrej,




Kirloskar etc.) as well as multinationals (LG
electronics, whirlpool, Electrolux etc.) into the
industry.

( any two examples related to any of the dimensions
can be discussed )

15

Neha should decide for divisional structure because :
(@)  Such a structure will enable her to diversify
the unit into varied product lines.

(b) It will help her to know the profit margins
from each product line. As a result, she can plant and
select the specific products for future diversification.
() It will facilitate further expansion without
disturbing the existing units.

(d) It will ensure steady growth of each product
line.

( any three points from (a),(b),(c) & (d)

1+1+1+1

16

. It is an impersonal form of mass communication by
the marketers, who pay for it for the promotion of
goods and services The features of advertising are :
(@)  Paid Form : An advertisement is a paid form
of communication for which the sponsor/marketer
bears the cost.

(b)  Impersonality : It is impersonal in nature, as it
is done through the medium of communication
available and face to face contact is absent.

(c)  Identified Sponsor : The sponsors who bear its
cost are identified in it..

1+

14 for each
feature & 2
for the
explanation

of the same
=3
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It is an informal organization. . The main features are:

(i) Based on Formal Organisation : This is based
on formal organization where people also have
informal relations. (It means first of all, the formal
organissation is established and then informal
organization is created out of it)

(i) It has no Written Rules and Procedures : In
this organization, there are no written rules and
procedures to govern inter-relationship. But, there
are group norms which have to be observed.

(iii) Independent Channels of Communication : In
this organization, relations among different people
are not defined because a person at the lowest rank
can have direct contact with the person at the highest

level. The flow of communication cannot be specified.

1+
1+
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Mr. Manish the chief executive of company is
referring to financial incentives in the form of pay
and allowances given to employees. The personnel
manager wanted to introduce non financial
incentives in the organization which are in the form
of:

(@)  Recognition : The hard working employees
should be acknowledged with a show of
appreciation. The recognition could be in the form of
congratulating the employee, installing reward or

certificate, rewarding good suggestions of employees.

(b)  Career Advancement Opportunities : People
always need to grow in their career, so if the
employees are provided proper opportunities for
growth and career advancement through equal and
sound promotion policy and chance to develop their
personality, they feel much satisfied and become
more committed to the organizational goals.

The values being ignored in the organization are : (a)
Harmony and Cooperation, OR (b) Recognition and
Motivation.

1+

1+
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The management function involved in the process is
controlling.

It is defined as the process of setting standards,
measuring actual performance and taking corrective
actions for deviations, if any. Limitations of
controlling.

(@)  Difficulty in setting quantitative standards : If

1+




the standards in the controlling system cannot be
defined in quantitative terms, then the measurement
of performance and their comparison with standard
is difficult due to which the control system may lose
its effectiveness.

(b)  Little Control on External Factors : A manager
can control internal factors but it is impossible to
control external factors (like government policy).

Therefore, a situation of absolute discipline cannot be
established.

1+
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Channels of distribution are set of firms and
individuals that take title or assist in transferring the
title of goods or services from the producers to the
consumers. They help in the smooth flow of goods by
creating possession, place and time utilities.

The functions that are performed by channels

of distribution are : (any three)

(a) Sorting : They procure the supply of goods
from different sources and then sort it out
into homogenous groups on the basis of
size or quality.

(b) Accumulation : They accumulate goods in
large homogeneous stocks and help in
maintaining continuous flow of supply.

(c) Allocation : They allocate large
homogeneous stocks into smaller
marketable lots.

(d) Assorting : They procure goods from
different sources and deliver them in
combination, as desired by customers.

(e) Product Promotion : They help in product
promotion by participating in activities
such as demonstrations, special display
contests etc. To increase the sale of
products.

(f) Negotiation : They negotiate the price,
quality guarantee and other related matters
to ensure maximum satisfaction to
customers.

(g) Risk Taking : They take title of goods and
thereby assume risk of price and demand
fluctuation, spoilage, breakage etc

2+

1+1+1
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(i) Public Issue : Under this method, the

15 for each




(i)

(i)

company issues a prospectus and
invites the general public to purchase
shares or debentures.

Offer for Sale : Under this method,
tirstly the new securities are offered to
an intermediary at a fixed price. They
further resell the same to the general
public at a higher price. The advantage
of doing this is that the issuing
company feels free from the tedious
work of making a public issue.

Private Placement : Under this method,
the company sells securities to the big
financial institutions or brokers instead
of selling them to the general public.
They in turn, sell these securities to the
selected clients at a higher price. This
method is preferred as it is a cheaper
method of raising funds as compared to
a public issue.

Right Issue : This method is used by
those companies which have already
issued their shares. When an existing
company issues new shares, first of all,
it invites its existing shareholder. This
issue is called the right issue. In this
case, the shareholder has the right
either to accept the offer for himself or
assign a part or all of his rights in
favour of another.

Electronic Initial Public Issue (E-IPOS)
: Under this method, companies issue
their securities through the electronic
medium (i.e., internet). The company
issuing securities through this medium
enters into a contract with a stock
exchange. SEBI registered broker have
to be appointed for the objective of
accepting applications. This broker
regularly sends information about it to
the company. The company issuing
security also appoints a Registrar, who
helps in making the issue a success by
establishing contact with the stock
exchange.

heading= 2
a2 +

2 for each
heading to
be
explained= 2
Y2
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a) Mr. Sharma is effective but not efficient because he
is able to achieve his target but at a higher production
cost, as for the same output, more inputs were used.

(b) Mr. Gupta is efficient as more goods are
produced with fewer resources, i.e. cutting down
costs, but not effective as he could not achieve his
target and, therefore, the goods could not reach the
market and hence, the demand for them declines.

© Managers should achieve their goals with
minimum resources, i.e., as efficiently as possible
while maintaining a balance between effectiveness
and efficiency. High efficiency associated with high
effectiveness should be the aim of all managers.

1+

1+
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(@)  Encourage students to boycott adulterated and
low quality goods/eatables in school canteens.

(b)  Easy ways for testing adulterated goods can be
explained to other students eg., checking adulteration
in milk, tea leaves etc.

() To display consumer rights and
responsibilities, special assemblies can be organized.
(d)  Commerce stream students can put a stall and
give demonstration on responsibilities of a consumer.
(e)  To set up voluntary complaint clubs for
consumer guidance and counseling.

(f) Essay writing competitions, debate
competition and quiz can be organized to promote
the awareness on consumer protection.

Any other creative suggestion should be allotted
marks accordingly.

1x6
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Following Factors can be used by Moni to explain the
reasons for lower working capital.

(@)  Nature of Business : Dev Ltd is a service
industry which is mainly involved in transport and
warehousing, so that they do not have to maintain
inventories due to which its working capital
requirements are very less.

(b)  Scale of Operations : Dev Ltd is operating at a

1x6




small scale at the district level which reduces its cash
requirement and other current assets and hence, it
requires a lesser working capital.

(c)  Credit Allowed : Dev Ltd. must be working on
cash basis and allows credit to certain customers that
too for a very small time period due to which its
current assets in the form of debtors, is very less
thereby reducing the working capital requirement for
the company.

(d)  Credit Availed : Dev Ltd. must be availing a
good credit from its suppliers for a good time period
which increases its level of current liabilities in the
form of creditors and hence, it requires lesser
working capital.

(e)  Production Cycle : Production cycle is the time
span between the receipt of raw materials and their
conversion into finished goods. As, Dev Ltd. is a
service industry, its production cycle is very small
Lesser money is blocked in the productive activities
and hence it requires lesser working capital.

) Availability of Raw Material : The main raw
material used by Dev Ltd. is diesel and petrol which
is easily available in the market and, hence, it does
not have to maintain stock of raw materials due to
which its working capital requirements are less.

25

Beena gave the suggestion of profit sharing.

Profit Sharing : The earned profit of a business
organization is the outcome of the efforts of two
parties, namely owners and employees. The owner
invest money and employees provide services to
tulfill the objectives. Consequently, the owners get
profit in lieu of their investment where as the
employees get salary/wages for providing services.
Although the employees naturally get their
remuneration as a reward of their services yet
sometimes they are made part of the profit earned by
the company with the hope that they will provide

14 for each
correct
suggestion=
1% +

1 Y2 for each
explanation=
47




services with full potential, labor and honesty. The
plan of profit thus given is known as profit sharing.
(iii) Seema gave the suggestion of Job Security

Job Security : It is an important non-monetary
motivator. Security of job means a feeling of
performance and stability. For example, if an
employee has a sense of fear or insecurity in his mind
that he can be removed from his job any time, he will
never work whole heartedly and this worry
continues troubling him. On the other hand, if he has
a feeling that his job is secure and permanent and he
cannot be removed from his job easily, he will work
without any worry and with an easy mind.
Consequently, his efficiency increases. This is the
reason why people prefer a permanent job with less
salary to a temporary job with more salary.
(iv)  CEO gave the suggestion of employee
participation : Employees get encouraged to notice
their participation in managerial works. Therefore,
they offer their full cooperation in making the
policies successful prepared with their help.




SAMPLE PAPER-3
BUSINESS STUDIES
CLASS-12

MAX. MARKS : 80
General Instructions :
(i)  All questions are compulsory.

(ii)  The question paper consist of 6 pages

Delhi University decided to issue certificates to students which will carry a security thread, bar

code and water mark. Which component of business environment is reflected with this decision?

Kanpur Leather Ltd is a manufacturer of leather products. It produces leather on a large scale and
its organizational structure is functional. In the production department, various foremen have
been employed. Each foreman has been made responsible for production planning,

implementation and control. This has led to a situation of confusion and uncertainty.

Suggest a technique of scientific management to Kanpur Leather Ltd which may help it in effective

planning and execution.
Which function of management ensures that actual activities confirm to planned activities?
Does the issue of rights issue of shares dilute the control of existing equity shareholders?

Why is dividend decision known as residual decision?
Name the feature of planning which helps managers know whether they have actually been able to

attain goals and correct the deviation, if any.

How can the management ensure the survival of the organization?

Decentralization is an extension of which concept?

State any three points of importance of financial planning.
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In an organization, all the workers take things easy and are free to approach anyone for minor
queries and problems. This has resulted in everyone talking to each other and thus resulting in
inefficiency in the office. It has also resulted in loss of secrecy and confidential information leaked
out. (a)Which principle do you think the manager should introduce to improve formal

communication?(b)What do you think will be the impact of the same?

LokSeva Clinic does not display any information relating to any free medical treatment to BPL
(Below Poverty Line) Cardholder, even after the Court’s orders. It charges high fee for consultation
from its patients and refuses to treat the poor patients. Moreover, the female medical staff does
not treat such patients with due care due to insufficient salaries. It also pays attention to the
medical representatives and agents of drug manufacturing companies and takes gifts and

commission.

(a) Which feature of management as a profession is not being followed by the clinic?

(b) By quoting the lines, identify the principle of management being violated.

(c) Inyour view, what values are being neglected by the clinic?
Sterlite Industries (India) Ltd provides training from time based to one of the scientific principles of
management to make the workers learn the best method of production. This emphasizes that each
employee in the organization should be scientifically selected and the work assigned to the

employees should suit their physical, mental and intellectual capabilities.

(a) Name and explain the principle of scientific management involved in the above situation.
(b) Name the principle of scientific management which is concerned with selecting the best
way of performing a job through application of scientific analysis and not by intuition or
trial and error method.
Gaurav purchased a pack of sweets for his son from a shop in the nearby market. After consuming
those sweets, the condition of his son deteriorated and he had to be hospitalized. Later on through

a laboratory test, it was certified that the sweets were adulterated.

(a) State any one precaution that he should have taken while purchasing the packed sweets.
(b) Name the appropriate redressal agency that he can approach in case he decides to file a

case against the shop keeper.
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15

16

(c) State any two values which are lacking in the shop keeper.
After finishing her BBA degree course, Tanya gets a job of Assistant Manager in a retail company
through the reference of her cousin Taruna who works in the same company as a Senior Manager.
Taruna decides to guide Tanya through her experience by making her aware of the important facts
about management in practice. She tells her that neither the principles of management provide
any ready-made, straitjacket solutions to all managerial problems nor they are rigid prescriptions

which have to be followed absolutely.
In context of the above case:

(a) Identify and explain the two features of principles of management mentioned in the above
paragraph.
(b) Why do the principles of management not provide readymade, straitjacket solutions to all

managerial problems?

During navratras, Varun finalizes a deal to buy a new house. So he visits a nearby branch of “Subh
Bank” to withdraw 10 Lakh rupees from his account in order to pay the token money to the seller.
In the bank he observes that a large number of customers are present to make cash withdrawals
probably because it is an auspicious time to make purchases. After sometime, he overhears one of
the bank staff members telling his colleague ,’Today “Subh Bank” is likely to fall short of cash and
to make up for the deficit and maintain its cash reserve ratio, it will have to approach another

bank’.
In context of the above case:

(a) Identify the instrument that “Subh Bank” will use to meet its short term requirements of
funds.
(b) State any three features of the instrument as identified in part (a).
Sudhir is working as a purchase manager in a power sector company .All his subordinates hold him
in high regard for his exceptional managerial skill. On the one hand, as a manager he is a tough task
master and expects strict compliance to the organisational rules and procedures ,on the other

hand he makes aconscious effort to develop rapport with his subordinates by interacting freely
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18

19

with them during the lunch breaks in the cafeteria. Many a times these chit chats helps him to get

an insight into the views and opinions of his team members about the policies of the organisation.

(a) Identify and explain the two types of organisations that have been discussed in the above
para

(b) Distinguish between them on the basis of origin, authority and behaviour.
Yash has set up a small scale manufacturing unit for making different varieties of low cost
detergents. In order to market his product he has employed a team of five salesmen. Each
salesman has been assigned specific areas in the city. He holds a meeting every month for
determining the objectives to achieve during the coming month. A sales target is pre-determined
for each month which is mutually agreed by both Yash and his sales team. If the salesmen succeeds

in reaching this target, a bonus is paid out to all of them along with the monthly salary.
In context of the above case:

(a) What style of leadership is adopted by Yash? Explain by quoting lines from the paragraph.
(b) Name the type of non-financial incentive being offered to the salesmen by seeking their
involvement in deciding the monthly targets of the firm.

Srija runs an NGO under the name “Sarthak” in Delhi. The organization is engaged in offering waste
paper recycling services to all kinds of institutions in the Delhi NCR region. It also manufactures
custom made paper stationery out of recycled paper on order for the interested institutions at a
very competitive price. The website of “Sarthak” provides a link to a careers site wherein the
people desirous of joining the NGO can use simple Job Search to find the right opportunity for
themselves. The NGO also keeps a database of unsolicited applicants in its office so that job

seekers may be notified of future opportunities when they arise.
In context of the above case:

(a) Identify the two sources of external recruitment being used by the NGO “Sarthak” by
quoting lines from the paragraph.
(b) List any two values that Srija wants to communicate to the society.
Rakesh joins as a Head Librarian of a newly constructed medical college in Pune. A team of four

librarians is placed under him for the smooth functioning of the library. Besides, he has been
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assigned eight people as support service staff. On the second day of his joining, he is told to get a
shipment of new books unloaded, stock the book shelves and then get all the waste (packaging,
paper etc) disposed of within a week’s time. In order to ensure orderliness and speed in the
process of setting up of the library, he makes each of the four librarians in charge of five different
subjects. Keeping in mind their competence and experience, he decides to give them more
authority so that they can make autonomous plans and assume the responsibility for the effective

implementation of their decisions.
In context of the above case:

(a) Identify and explain the concept used by Rakesh keeping in mind the competence and
experience of the other librarians.

(b) Describe briefly any three advantages of using the concept as identified in part (a) of the
question.

20  Visions Limited is a renowned multiplex operator in India. Presently, it owns 234 screens in 45 [5]
properties at 20 locations in the country. Considering the fact that there is a growing trend among
the people to spend more of their disposable income on entertainment, two years back the
company had decided to add more screens to its existing set up and increase facilities to enhance
leisure, food chains etc. It had then floated an initial public offer of equity shares in order to raise
the desired capital. The issue was fully subscribed and paid. Over the years, the sales and profits of
the company have increased tremendously and it has been declaring higher dividend and the

market price of its shares has increased manifolds.
In context of the above case:

(a) Name and explain the different kinds of financial decisions taken by the company by
quoting lines from the paragraph.
(b) Do you think the financial management team of the company has been able to achieve its
prime objective? Why or Why not? Give a reason in support of your answer.
21  Anju and Manju are good friends. Considering the fact that the activities involved in managing an [5]
enterprise are common to all organizations, after completing their master’s in business

management, both of them take up a job at managerial level in different organizations as per their
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individual areas of interest. Anju takes up a marketing job in a retail company and strives to
increase sales whereas Manju joins an NGO and works diligently to realize its objective related to
providing employment to specially abled persons. Both of them have to perform a series of
continuous, composite but separate functions. On some days, Anju may spend more time in
planning a future display layout and on another day, she may spend time in sorting out an
employee’s problem. Both Anju and Manju makes conscious efforts to build a feeling of team spirit
and coordination among diverse individuals with different needs who work under them. The effect
of their management is noticeable in their respective departments as the targets are met
according to plans, employees are happy and satisfied, and there is orderliness in its functioning

rather than chaos.
In context of the above case:

Identify the various features of management highlighted in the above paragraph by quoting lines

from it.

Deeksha is the General Manager of a firm offering Telemarketing services. Telemarketing is a
method of direct marketing in which a representative of the company solicits prospective
customers to buy products or services, either over the phone or through a subsequent face to face
or web conferencing appointment scheduled during the call. Deeksha ensures that all the call
center representatives are well versed with the local languages so that they can interact effectively
with the prospective buyers. Moreover, the employees are provided training to improve upon their
trouble shooting skills so that they do not spend too much time with every customer. By acquiring
these skills, the callers are able to add value to their message and also shorten the call durations,

leading to increased customer satisfaction and profitability of the business.

As a part of the firms’ policy, Deeksha encourages women, persons from backward communities

and persons with special abilities to assume responsible positions in the organization.
In context of the above case:

(a) Identify the type of communication barriers that Deeksha is able to overcome by ensuring
that all the call centre representatives are well versed with the local languages.

(b) What are the benefits of training employees to an organisation?
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(c) List any two values that the firm wants to communicate to the society.

Differentiate between-
(a)Training &Development.
(b)Taylor&Fayol.

(c)Policy &Rule

Identify the apex institution which lays down the code of conduct for Stock Exchange. Explain its

functions.

Well-being Ltd is a company engaged in production of organic foods .Presently, it sells its products
through indirect channels of distribution.But,considering the sudden surge in the demand for
organic products,the company is now inclined to start its online portal for direct marketing. The
Financial Managers of the company are planning to use debt in order to take advantage of Trading
on Equity .In order to finance its expansionplans, its planning to raise a debt capital of 40 lakhs
through a loan @10% from an industrial bank.The present capital base of the company comprises

of X9 lakh equity shares of X10 each. The rate of tax is 30%.
In the context of the above case-
(a)What are the two conditions necessary for taking advantage of Trading on Equity?

(b)Assuming the expected rate of return to be same as it was for the current year ie, 15%, do you

think the Financial Manager will be able to meet their goal .Show yourworking clearly.
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SAMPLE PAPER-3
CLASS-12
BUSINESS STUDIES

ANSWER SCHEME
Technological Environment
Functional Foremanship
Controlling.

No, as right issue is offered to the existing equity shareholders and their control in the affairs of the
company are not diluted.

Dividend to the equity shareholders is always paid after all payments to rest of the stakeholders
including preference shareholders have been made. This is the reason dividend decision is known as
residual decision.

“Planning establishes Standards for Controlling”
By earning sufficient profits to cover the costs.
Delegation

Importance of financial planning (Any three).

1. Facilitates collection of optimum funds.

N

. Helps in investing finance in right projects.

w

. Helps in fixing most appropriate capital structure.

D

. Helps in Operational Activities.
5. Reduces Financial Uncertainties.
6. Base for Financial Control.

7.Helps in proper utilization of Finance.
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10 (a)Principle of Scalar Chain
(b)Introduction of gang plank in case of emergencies

11 (@) The clinic is not following the code of conduct in the medical profession.
Code of Conduct: It refers to the set of rules and regulations to be followed by the members of
a profession compulsorily while serving the society.
(b) Principle violated here is “Equity” as only female staff is getting low salaries.
Quoted Lines: “The female medical staff does not treat.......due to insufficient salaries”
Principle of Equity: It refers to the Non-discriminatory and impartial treatment or behaviour of
the managers while dealing with their subordinates.
(c) Values Neglected:
= Obedience of courts order
= Obedience of professional code of conduct
= Fulfilment of social responsibilities
= Care of unprivileged section of the society
12 (a) Development of each and every person to his or her greatest efficiency and ability
* Employees should be selected scientifically.
= Efficient employees produce more to earn more.
(b) Science, not Rule of Thumb.
13 (a) Gaurav should have checked for the quality assurance mark like FPO/FSSAI on its label while
purchasing the food product.
(b) District Forum
(c) The two values which are lacking in the shop keeper are:
(i) Honesty
(ii) Concern for others.

14 (a) The two features of principles of management mentioned in the above paragraph are as
follows:

(i) General Guidelines: The principles of management are guidelines to action. Since the
real business situations are very complex and dynamic and are a result of many factors,
these principles do not provide readymade, straitjacket solutions to all managerial
problems. But the importance of principles cannot be underestimated because even a
small guideline may help to solve a given problem.

(ii) Flexible: The principles of management are not rigid prescriptions which have to be
followed absolutely. They are flexible and can be modified by the manager when the
situation so demands. They give the manager enough discretion to decide which
principle should be used under what circumstances as individual principles are like
different tools serving different purposes.

(b) As the real business situations are very complex and dynamic and are a result of many factors,
the principles of management not provide readymade, straitjacket solutions to all managerial
problems.

15 (a) Call money is the instrument used by “Subh bank” to meet its short term requirements of
funds.

(b) Three features of call money are as follows:
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(i) Call money is an instrument through which one bank may borrow money from another
bank to maintain the cash reserve ratio as per the guidelines of the RBI.
(i) Its maturity period may be from a single day to a fortnight.
(iii) The rate at which the interest is paid on call money is called call rate.
16 (a) The two types of organisations are formal &informal discussed in the above paragraph are:
Formal Organisation&Informal Organisation.

Difference between formal &informal organisationis given below:

Basis Formal organisation Informal organisation
Meaning Structure of authority relationships created by ~ Network of social relationships arising out
the management. of interaction among employees.
Origin Arises as a result of company rules and policies.  Arises as a result of social interaction.
Authority Arises by virtue of position in management. ~ Arises out of :bérsbr-\é@iliﬁés. -
‘Behaviour  itis directed by rules. There is no set behaviour pattern.
Flow of Communication takeg-ﬁié-te throuéﬁ chain.  Flowof cévmmunic;tiézkﬁ;-r_\o_p;_tzern and
communication can take place in any direction.
Nature Rigid o N Flexible
17 (a) The democratic style of leadership is adopted by Yash. A democratic leader encourages his

subordinates to participate in the process of decision making. Thereby, a manager is able to
motivate his subordinates to perform their best, as they themselves have set the goals.
“ A sales target is pre-determined.....both yash and his sales team”
(b) Employee participation is the type of Non-Financial incentive that is being offered to the
salesmen by seeking their involvement in deciding the monthly targets of the firm.
18 (a) The two sources of external recruitment being used by the NGO “Sarthak” are as follows:
(i) Web Publishing: “ The website of “Sarthak”.....the right opportunity for themselves”
(i) Casual Callers: “The NGO also keeps a database...when they arise”
(b) The two values that Srija wants to communicate to the society are:
(i) Environment sustainability
(ii) Responsibility
19 (a) Rakesh has used the concept of decentralisation keeping in mind the competence and
experience of the other librarians.
(b) The three advantages of using decentralisation are as follows:

(i) Decentralisation helps to promote self-reliance and confidence among the
subordinates: When the subordinates are given freedom to take their own decisions,
they learn to depend on their own judgement and develop solutions for the various
problems they encounter. Moreover, a decentralisation policy helps to identify those
executives who have the necessary potential to become dynamic leaders.

(ii) Relief to top management: Decentralisation reduces the need of direct supervision and
helps to save the time of top management for pursuing other important work.

(iii) Quick decision making: In a decentralised organisation, managers at all levels are
allowed to take such decisions independently which lie within their area of jurisdiction.
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20

This makes the process of decision making much faster.

(a) The different kinds of financial decisions taken by the company are as follows:
(i) Investment decision: “Two years back the company had...leisure, food chains etc”
(i) Financing decision: “It had then floated an....to raise the desired capital”
(iii) Dividend decision: “Over the years, the sales and profits....declaring higher dividend”
(b) Yes, the financial management team of the company has been able to achieve its prime
objective i.ewealth maximisation of the shareholders by maximising the market price of the
shares of the company.

21 The various features of management highlighted in the above paragraph are stated below:

22

23

(a) Management is all pervasive: “Considering the fact that the activities involved in....as per their
individual areas of interest”

(b) Management is a goal-oriented process: “Anju takes up a marketing job...providing
employment to specially abled persons”

(c) Management is a continuous process: “Both of them have to perform...in sorting out an
employee’s problem”

(d) Management is a group activity: “Both Anju and Manju makes conscious efforts...who work

under them”

(e) Management is an intangible force: “The effect of their management....rather than chaos
(a) Deeksha is able to overcome the semantic barriers by ensuring that all the call centre
representatives are well versed with the local languages.
(b) The benefits of training to an organisation are as follows:
(i) Training imparts systematic learning to employees thereby helping to avoid wastage of
effort and money. It is considered better than the hit and trial methods.
(ii) Itincreases the employee’s productivity both in terms of quantity and quality leading to
higher profits.
(iii) Training increases the morale of the employees and reduces absenteeism and
employee turnover.
(c) The two values that the firm wants to communicate to the society are:
(i) Women empowerment

(i) Humanity
Difference between training and development

Basis Training Development
Meaning it is a process of It is a process of learning
increasing knowledge and and growth.

skills of an employee.
Orientation It is & job-oriented It is a career-oriented
process. process.
Duration It is a short-term process, It is a long-term process,
z for a fixed duration. which takes place through
out the life of a person.
Effect/ It enables the employee to It ensures the overaill
_Ohiec'li\ra perform the job better. growth of the employee.
Focus It focuses on technical It focuses on conceptual
skills. and human ideas.
Level of It is meant for supervisors It is meant for managerial
trainees and labourers. levels.
Scope it has a narrow scope. It has a wider scope.
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Comparison between Henry Fayol and FW Taylor

Basis of difference

Henry Fayol

W Tay\m

;;é;pective Top level management Shop floor level of a factory o

Unity of Command Strong proponent Did not feel important as shown through
; functional foremanship

“Ap;;l;cablllty Universally applicable Applicable in specialised situations

Basis of formation

Personal experience

Observation and experimentation

Focus Improving overall administration Increasing PI'OdUCtIV'l)’_ e

Pefsonality Practioner . Scientist R

Expression Generally theory of administration Scientific managemont I
S.No. Policy Rule

(i)  Policy is a guide to decision-making.

A rule is a guide to human behaviour.

(i)  Itisageneral statement which brings uniformity in

decision-making.

It is the most specific statement.

(iii)

A policy is subjected to interpretation. In other words,

it allows discretion during decision-making.

Rules are rigid in nature and there is no scope for
any kind of discretion. ‘

24

The functions of SEBI are-(explanation needed)

The apex institution is SECURITIES AND EXCHANGE BOARD OF INDIA(SEBI).

(a)Protective Functions
(b)Regulatory Functions.
(c)Development Functions.

25 (a) Two conditions necessary for taking advantage of trading on equity are-
i)The rate of return on investment should be more than the rate of interest.
ii)The amount of interest paid should be tax deductible.

(b) Working note-

Sources Situation-1 Situation-2
Equt.shares 90,00,000 90,00,000
10%debt NIL 40,00,000
Total capital Employed 90,00,000 130,00,000
EBIT 13,50,000 19,50,000
Less:interest | meemmmeeemmee- 4,00,000
EBT 13,50,0000 15,50,000
Less tax@30% 4,05,000 4,65,000
EAT 9,45,000 10,85,000
No of the shares of 10 each | 9,00,000 9,00,000
EPS 945000/900000=1.05 10,85,000/9,00,000=1.21

Yes the financial manager will be able to meet their gol as per projected EPS. With the issue of debt ,is
higher than the present EPS
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